SRR Dt
HHCHEO SO Y XA ]
CHol EOIUKIAS 9 =055 s (S:da)
K- B3 . S2(3H) - MIRAY - BAS Ofl &k plE-Ll HRZ
6,658,031 5,567,099 1,090,932
= 2,031,768 1,303,067 728,701
= 2 60,000 60,000 0
Il 17,500 17,500 0
S 4,548,763 4,186,532 362,231
4,942,230 4,223,571 718,659
N RS = 1,982,985 1,254,284 728,701
Il 17,500 17,500 0
= 2,941,745 2,951,787 210,042
1,147,860 358, 151 789,709
HOHAXASE & S0 = 791,749 0 791,749
= 356,111 358, 151 A2,040
EEEENE 26,500 30,000 3,500
201 QB2 g 26,500 30,000 3,500
01 AFR2l| 8,500 0,000 A1,500
Ozl ¢ &2 8,500 0,000 A1,500
03 A2 18,000 20,000 22,000
OZole| ¢ A 2| 8,000 10,000 £2,000
OBIAII - £I1(200%) 8,000 0,000 £2,000
ANXSEE Al - 280 2te|l ¥ Seet 84,904 90,240 5,336
202 O4d| 24,904 30,240 AN5,336
01 =LHOYI 24,904 30,240 25,336
OFese Itet 7,624 12,960 £5,3%
ol -2 - WFRHA F& 37,990 39,400 A1,410
201 et 5,440 6,400 A960
01 AtR2ell 5,440 6,400 2960
ORHFARRAZH RIS 680 1,000 A320
OCHHM JIZ 680 1,000 A320
OWdZTwW=xd Btgel & 680 1,000 A 320
Ot M T 680 1,000 A320
OIS SAIR SHol & 680 1,000 A320
OCHHAM HI= 680 1,000 A 320
202 O4d| 2,550 3,000 2450
01 =LHOYI 2,550 3,000 AN450
O A RAIZ BHol & 550 1,000 2450
QIMETI AN A MEXH SAALS 27,000 0 27,000
201 et 2,000 0 2,000
01 AtR2eldl 2,000 0 2,000
OE2ES HE(ARE, SHALE) 2,000 0 2,000
307 2I2H0I A 5,000 0 5,000
04 CIHHABE 5,000 0 5,000
ORI Al £H3 5,000 0 5,000
308 XX/ SHHIS 0 20,000 0 20,000
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S A RERI 8
M CHEN B Y HXASYS _
CHo|: ROIRIRI A 2 SIS S (S5l 82)
SH B E(3A) - HIRAY - BAS Off 4 0 Il o Hms2
307 BI2H0IA 36,300 37,000 700
04 DIZFMAIEX 6,300 7,000 AT00
©0| - S&storSt3 6,300 7,000 700
HA7CH CHESIFQsAF &) 21,028 34,000 12,972
202 04| 3,210 4,000 AT90
01 =ULoit| 3,210 4,000 AT
OF LHALKIA 3,210 4,000 790
301 et AZ 17,818 30,000 N12,182
10 AtaH 17,818 30,000 N12,182
SVEEE 17,818 30,000 A12,182
=2y s= e - 791,749 0 791,749
= 791,749 0 791,749
308 XX EHHSOIH 791,749 0 791,749
= 791,749 0 791,749
01 KEXIEHA 791,749 0 791,749
ONEBHSEA 791,749 0 791,749
= 791,749 0 791,749
2,136,832 2,058,392 78,440
2HEH SE3EN X = 500,000 500,000 0
T 1,636,832 1,558,392 78,440
PSS S 877,495 829,700 47,795
201 8249 11,305 13,300 A 1,995
01 AtR22 11,305 13,300 A 1,995
CEES=PN] 5,305 7,300 A1,995
202 O4H| 1,190 1,400 A210
01 2ol 1,190 1,400 A210
Y= e S=CE=E S 190 400 2210
307 BI2H0IA 850,000 800,000 50,000
03 ABIEHHEXZ2 850,000 800,000 50,000
OAIBISHHIE X2 850,000 800,000 50,000
HIRIRIEH Zoss X8 102,670 110,200 27,530
201 LB | 33,660 39,600 15,940
01 Ar222lH] 33,660 39,600 15,940
OAHS] - QIZFEFHI X 2 AHY 13,060 19,000 25,940
OSAAMNIEERARJS =H| ¥ E&E 10,060 13,000 N2,940
OWBTOITHA AKX AF 3,000 6,000 23,000
AT R = 3,000 6,000 23,000
202 (dH| 9,010 10,600 A 1,590
01 =2UWdAbl 9,010 10,600 A 1,590
OAHE] - QIZFEHHI X AN 4,910 6,500 A1,50
OMBISHHIBAL & A 4,910 6,500 A1,50
MOIZXEX 4 189,000 210,000 A21,000
308 XX EHHISOIH 189,000 210,000 A21,000
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ST REXI 8 Dt ) )
2A -3 - S2A(2) - NRAEY - BLES Off &t 4 N Husz

02 QitFHEX 450,900 501,000 250,100

O XN SAHHZHHAIEFA 261,900 280,000 A18,100

OXES A0l X NIE2E 70,000 80,000 210,000

O3 NHASALTHE 20,000 22,000 22,000

O2ENEREANESAEZ IS 2Y 0 10,000 210,000

OXESARZ I MK eIt u= 5,000 10,000 A5,000

O - MHHUHHI HESAESFE 25,000 30,000 /5,000

AN AHESAES K& 373,020 413,200 40,180

202 O H 1,020 1,200 A180

01 2UHH 1,020 1,200 A 180

OAl - ZHESAHEHZEE S 420 600 180

308 AXIHHSOIH 372,000 412,000 240,000

01 NMXSHHBHEXS 372,000 412,000 240,000

OAEE ™| 210,000 250,000 240,000

349,795 349,773 22

NS A CIUIOIEIAIY X (=12) = 269,084 269,062 22

= 80,711 80,711 0

349,795 349,773 22

308 AXIHHSOIE = 269,084 269,062 22

= 80,711 80,711 0

01 NMXSHHBHEXS 349,795 349,773 22

OXESALZCIUIOIE A XI & 349,795 349,773 22

= 269,084 269,062 22

b= 80,711 80,711 0

63,230 37,203 26,027

NESAML BE2 Xd(21) = 48,637 28,618 20,019

= 14,593 8,585 6,008

63,230 37,203 26,027

308 AXIHHSOIH = 48,637 28,618 20,019

= 14,593 8,585 6,008

01 NMXSHHBYEXS 63,230 37,203 26,027

O SAHAZE S XA 63,230 37,203 26,027

= 48,637 28,618 20,019

& 14,593 8,585 6,008

358,567 442,656 84,089

DA Eel & A7 = 358,567 441,656 /83,089

= 0 1,000 A1,000

WANTEAE ALY 0 1,000 A1,000

202 O H 0 1,000 A1,000

01 2UHH 0 1,000 A1,000

OBWHAIN A FE AL 0 1,000 A1,000

7,464 13,296 N5,832

JAREISHHAY =2 (21) = 7,464 3.2 A58
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S

BECHAN 2 L NXAZAs .
o BN M2l @ HARY (2o 8a)

SH - BB G(3) - NRAY - BES O & g8 s
202 014 5,664 11,496 A5,832
2 5,664 11,496 75,832
01 =LHoid| 5,664 11,496 5,832
OtldnEEsSTHAY 5,664 11,496 Ab,832
2 5,604 11,496 5,832
NARHDEAsAY N2 (2D) 32,057 109,314 NTT,257
= 32,057 109,314 NTT,257
308 T X SH = 0| & 32,057 109,314 NTT,257
= 32,057 109,314 NTT,257
01 XXSHILEES 32,057 109,314 NTT,257
OtldnEEsSTHAY 32,057 109,314 NTT,257
2 32,057 109,314 AT7,257
312,848 210,841 102,007
Itsse 23 = 48,783 48,783 0
= 264,065 162,068 102,007
284,948 180,241 104,707
AL S ML = 36,183 36,183 0
= 248,765 144,058 104,707
QYR JIEHHA B =8 22,408 24,731 N2,323
201 Ler2 | 12,500 13,500 A1,000
REESTT 12,500 13,500 A1,000
OXTOISANT DS 2,800 3,800 A1,000
202 04 7,000 8,000 A1,000
01 =LHHbI 7,000 8,000 A1,000
CEEE I LEES 1,100 1,200 A100
CEEEWEEEDEET 0 900 £900
301 2eEt2d s 2,908 3,231 A323
09 BU2RRIAZH=S 2,908 3,231 A323
0BARLRABLZ 2,908 3.231 £323
RIS o2 A5 A& 201,030 94,000 107,030
308 AXIHHMSOIA 47,000 50,000 A3,000
01 MXSHHBHEXS 47,000 50,000 23,000
oy e d A 19,000 20,000 21,000
OMERIYINSSY 19,000 20,000 A1,000
oI AHE=H B 9,000 10,000 A 1,000
403 XXM S =0l 154,030 44,000 110,030
01 XIXISHA2E & 154,030 44,000 110,030
OMERIYIAHS T PY 40,000 44,000 24,000
OgElblz SHXE AL 114,030 0 114,030
27,900 30,600 £2,700
HI&CHHI CHM &S i = 12,600 12,600 0
= 15,300 18,000 A2,700
SXes 2 sEEd MA 15,300 18,000 £2,700
201 et 15,300 18,000 A2,700
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S AR E

[e)
g DIHSsE Lot

ol HIAMCHHI CHRS 2 by 2 (St &)
SA-HH . E(3) - MBAY - BES Ol &k o4 | H o HRE2
01 ArR2Z2ld| 15,300 18,000 N2,700
OSXASA A 13,300 15,000 A1,700
O YEZAA 2,000 3,000 21,000
1,321,375 1,081,068 240,307
22 . BAS S5 DAPE A 2 60,000 60,000 0
[ 1,261,375 1,021,068 240,307
NS2A2S HE S 514,565 288,858 225,707
NeEH S0 JtAISH =& 514,565 288,858 225,707
201 LEH2AH| 6,565 11,565 5,000
01 Ar2eld| 6,565 11,565 /5,000
ORI AMIISE A3 &&sY 2,000 6,000 24,000
OFMINE OIICHD 93 3,000 4,000 A1,000
202 O4H| 6,000 7,293 A 1,293
01 2ol 6,000 7,293 A 1,293
ONYEA Y AMHE YSEA 6,000 7,293 A1,293
307 91240/ 320,000 270,000 50,000
04 DIRESALRE 50,000 0 50,000
O2AMKASE AN 2 MAIOILE HEI K& 50,000 0 50,000
402 BIZI=0| M 182,000 0 182,000
01 BIAR=RE 182,000 0 182,000
OBBHASHMY DSIIKM, DIIX 182,000 0 182,000
A2 A= 154,640 137,540 17,100
d=21S TESEN F=F 135,640 113,040 22,600
201 Bt2HH| 52,640 82,640 /30,000
01 ArR2eld| 52,640 82,640 30,000
OAOIHE MO0 2Y 0 20,000 A20,000
OAOIHE AN D= 0 16,000 A 16,000
O A AR} 0 4,000 24,000
OYLBH=YAI M T 10,000 20,000 £10,000
O/ AIRAIHE2 LR 0 12,000 12,000
OYREZNAMH D= 10,000 8,000 2,000
202 01t 50,000 12,400 37,600
01 =LHoIHl 50,000 12,400 37,600
OZHYHAMPREX 10,000 12,400 A2,400
O &oHI0l =dlE 29 10,000 0 10,000
0Z2Y HEHYESS DS 30,000 0 30,000
303 Eal= 33,000 18,000 15,000
01 Za= 33,000 18,000 15,000
OTHEA 224 QHEIE 23,000 8,000 15,000
sAQImRRE FA 19,000 24,500 A5,500
201 2Bt | 12,000 15,000 £3,000
01 At2Z2l| 12,000 15,000 A3,000
OLATHISE NG 2Y 7,000 10,000 23,000
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